
Write each product of powers as a single power. 

Write each quotient of powers as a single power. 

(−2𝑥)ହ ÷ (−2𝑥)ଷ = (−4𝑥)଼ ÷ (−4𝑥)଻ =

Write each quotient of repeated multiplication division statement in faction form then simplify as a single power. 

(2𝑥)଼ ÷ (2𝑥)଻ =

𝑥ଶ × 𝑥ଶ = 𝑥ଶାଶ = 𝑥ସ

2ଶ × 𝑥ଷ =

𝑧ଷ × 𝑧ଶ = 𝑛ସ × 𝑛ଶ =

𝑦ଷ × 𝑦ସ = 3ଶ × 3ଶ =

𝑧ହ ÷ 𝑧ଶ =

(3𝑥)ହ ÷ (3𝑥)ଷ =

𝑥ଷ ÷ 𝑥ଶ = 𝑦ଶ ÷ 𝑦ଶ =

𝑥ସ ÷ 𝑥ଶ = 𝑥ସିଶ = 𝑥ଶ
𝑦ସ ÷ 𝑦ଶ =

𝑔଻ ÷ 𝑔ସ =

Write each quotient of powers as a single power. 

𝑚ହ

𝑚ଶ
⎯⎯⎯=

𝑥ହ

𝑥ଶ
⎯⎯⎯=

𝑦ଶ

𝑦
⎯⎯⎯=

𝑏ଷ

𝑏ଶ
⎯⎯⎯=

(−3𝑥)ସ

(−3𝑥)ଶ
⎯⎯⎯⎯⎯⎯⎯=

(−7𝑥)ହ

(−7𝑥)ଶ
⎯⎯⎯⎯⎯⎯⎯=

(2𝑥)ଶ × (2𝑥)ଷ=

𝑚ଷ × 𝑚ସ =

(3𝑦)ଶ× (2𝑦)ଶ=

𝑥ସ ÷ 𝑥ଶ =
𝑥 × 𝑥 × 𝑥 × 𝑥

𝑥 × 𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 𝑥ଶ

𝑥ଷ ÷ 𝑥ଷ = 𝑥ଶ ÷ 𝑥ଷ =

(2𝑥)଺ ÷ (2𝑥)ଷ =

𝑚ସ ÷ 𝑚ଷ =
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Write the following as a single power.

(𝑥ଷ)ଶ = 𝑥ଷ×ଶ = 𝑥଺

Distribute the power. 

൬
𝑥

𝑦
⎯⎯൰

ଶ

= ൬
3𝑦

2𝑥
⎯⎯⎯൰

ଶ

ቆ
180𝑥ଶ

6𝑥
⎯⎯⎯⎯⎯⎯ቇ

ଶ

= 

ቆ
24𝑥ହ

2𝑥ସ
⎯⎯⎯⎯⎯ቇ

ଶ

= 
൬

5𝑥𝑦

35𝑦ଶ
⎯⎯⎯⎯⎯൰

ଶ

= ൬
4𝑥

4𝑥
⎯⎯⎯൰

ଶ

=

(𝑦ଷ)ଶ =

[7 × 𝑥]ଶ = 7ଶ𝑥ଶ = 49𝑥ଶ [5 × 𝑦]ଶ =

(𝑥ଶ)ଷ =

Write as a multiplication of two powers. 

[𝑚 × 𝑛]ଶ

(2𝑧ଶ)ହ = (3𝑥ଷ)ସ =
(𝑥ିଵ)ଶ =

[7 × 𝑏]ଶ = [2𝑥 × 3𝑥]ଶ = [3𝑥 × 2𝑦]ଶ

[7𝑥]ଶ = [5𝑥ଷ]ଶ =[3𝑥𝑦]ଶ
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